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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING

Model Question PapeIMODEL QUESTION (2021-2022) Set - 01

Subject - Time - 1 Hrs 30

Mathematics Min Full Marks - 40

Class - XII

General Instructions (A= fAd20):

> Itis mandatory to answer all the questions. (84T W 31f7ar 2 |)

> The total number of questions is 40. (J24I &1 Hel AT 40 7 |)

> Each question carries 1 mark. (U&& U9 & forq 1 i fuiRa g 1)

» Four options are given for each question, choose one of the correct option.
UR® U9 & IR APy AU Y €, S99 9 Udh Al [ddhed & aa9 HIfoig |)

> There is no negative marking for any wrong answer. (Teld STR & oIt a8
3P TE PIe ST )

Let R be a relation on N defined by 8. The domain of Ris

Tehd RT3 & g N R Udh Hae R, ERT IRYIYT 2| R BT Uid
g

(a) {2, 4, 6} (b) {1, 2, 3, 4} (c){2,4,6,8} (d) {2, 4, 8}

Let L be the set of all lines in a plane and R be the relation in L defined as

then R is

(a) reflexive and transitive

(b) symmetric but neither reflexive nor transitive
(c) symmetric and transitive

(d) none of these.

AT {6 L el wde § Rerd |l Y@meil & S9zag 8 a1 R, L W IRIfd U
WR o B, AR ©

(a) TdeT dqAT HhTHD

(b) FHMAT oifdhs 9 1 Wged AT &1 HhrHd
(c) TAMAT IR HhH®

(d) 379 & BIg el

Let be a function defined as — . The inverse of f is

the map is given by
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BBYYS o —— &R uRIT T wers 2| f @
g e ufafes aRWR frfalaa # & foae grr ura
BT
(a) — (b) — (o) — (d) —
4. Let the function f and g be one-one onto, then is

AT {6 ®ee f Ud g Udhd UG ABIEH & g

(a) one-one onto (Thd IMTTBTEH)

(b) onto but not one-one onto (3TEBTEH U] Uhd 3MBTadh Tal)
(c) one-one into (Thd &)

(d) Many-one onto (dgT® 3MTBTaD)

5. Let the function be defined by x, then fis
afe wed , R & ar ®
(a) one-one (Thd)
(b) one-one but not onto (Y TR ATTBIEH o)
(c) one-one and onto (Y& TG IATTBIEH )

(d) none of these (375 ¥ @I T8l)
6. Let —, then is equal to
afy —, dr BT AM B
(a) 2 (b) 1 (c)0 (d) none of these(3TH & ®Ig =)
7. If then
afg ar
(a) (b) (c) - - (d) - -
8. The principal value of is
&1 &I 74 7
(a) (b) (c) (d) none of these(3TH & ®Ig =)
9. The value of — s
— FHTHA R
(a) (b) (c) (d)
10. is equal to

FREN g hitps-ifbyjus.com
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© R G— (b) : (c) —— (d) ——
11. If then the transpose of A is
afe A @ uRad @
(a) (b) (c) (d) none of these(§TH ¥ Ig &)
12. If then the value of  are respectively
(@)3,1 (b) 2,3 (c)2,4 (d) 3,3
B ) B | ot N
(@)3,1 (b) 2,3 (c)2,4 (d) 3,3
13. If then s equal to
B ar TR B
(a) (b) (c) (d)
14. The matrix is a

15.

(a) Identity matrix
(c) Skew-symmetric matrix

Yz Udh

(a) AHAD IME &
(c) fawq Ffaa g B

If and

(a)

(c)

(b) Symmetric matrix
(d) None of these

(b) AT MR ©
(d) 379 & BIg =&

then is equal to

(b)

(d)
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@BYJus -1 4 -3 —1 2 1
Trta)| 2 -8 6] (b)| 4 -8 —4]
L 1 —4 3 [—3 6 3
1 4 =3 -1 4 -3
(c)[2 -8 6] d| 2 8 6]
11 4 3 1 -4 3
cosf@ —sind| .
16. Value of |sin9 cosO [
(@) o (b) -1 ()1 (d) none of these
cosd —sinf
|sin9 c059| 1 A &
(a) 0 (b) -1 (c)1 (d) 79 & I3 8l
2 31 _|x 3 .
17. If |4 5| _|2x 5|thenX|s
(a) 2 (b) -2 (c)0 (d) none of these
2 3] _|x 3
A |y o= T xE
(a) 2 (b) -2 (c)0 (d) S99 & I3 8l

18. Which of the following is correct

(a) Determinant is a square matrix

(b) Determinant is a number associated to a matrix

(c) Determinant is a number associated to a square matrix
(d) None of these

foreforRaa & 9 &9 91 B9 98! 2
(a) ARMRIE TP a7 AR ©

(b) ARMG UHh AE W Hdg (D AT ©
(c) IRMI® Toh a7 Mg A Hdg Udh & &

(d) S8 9 BIg &l
1 sinf 1
19. IfA = |—sinf 1 sin@], where 0 < 6 < 2m then
-1 —sind 1
1 sinf 1
afe A = |—sing 1 sinel\_ﬂﬁOSHSZnﬁrEﬁ
-1 —sind 1

(a)det(4) =0
(c)det (A) € (2,4)

(b) det(4) € (2, )
(d) det(A) € [2,4]

https:/byjus.com
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[BBYJU'S et A be a non-singular square matrix of order 3 X 3, then |adjA4| is equal to
afd A, 3 x 3P T I Mg © Al |adjA| &1 919 &
(a) |4 (b) |A]? (c) |AJ? (d) 34|

21. If f(x) = xzsini, where x # 0, then the value of the function f at x = 0, so that

the function is continuous at x = 0 is

(a) o (b) -1 (c)1 (d) none of these
?:rf%{f(x)=xzsin%,Gﬁxio,ﬁwfzmﬂﬁx=0fw BRI, I o x = O WR
dad ®

(a)0 (b) -1 (c)1 (d) 379 1 BIg el

22. The function f(x) = |x —1|, x €ER
(a) continuous atx =1 (b) continuous everywhere
(c) not differentiable at x = 1 (d) all of these

Bod f(x)=|x—1|, x ER

(a)x =1 W Had & (b) TH Had BT ©
(c) x = 1 W Jdho-IT 7Bl B (d) SIRIad T
23. Derivative of cosvx is (cosvx @ @@l )
1 —sinyx sinvx sinvx
(a) cosvx (b) % (c) T (d) x

dy .
—2),0<x<1then—|s
1+x dx

24, Ify =sin~?! <

1—x2
afe v = sin-1
y=sm (1+x2

-2 b 2 1 g -1
14+x2 (b) 1+x2 (c) 1+x2 (d) 1+x2

d
),0<x<1?ﬁ—y%
dx

(a)
d
25. Ify =log(logx),x > 1then d_ic] is

d
afe y = log(logx),x > 1 ar d_ic, g

(a) (b)

logx logx xlogx xlogx
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27.

28.

29.

30.

31.

32.

33.

d
f (If<) x = acosh, y = bcos@, then () d_ic} is ()

a a b b
O (b) =3 (©) ~ (@)~
fy = logx,x > 0 then 2 |

y =logx,x en T2 is
afg y =1 >0 ar &y

y =logx,x Ix2

1 1 1 2
(@) ~ (b) = ©) -2 Ol
Derivative of sinx with respect to cosx is
sinx @7 MadHelS] cosx & AU ©
(a) tanx (b) cotx (c) —tanx (d) —cotx

d
If (@) y = x*, then (1) = is (&)
dx
(@) x*(1 — logx) (b) x*(1 + logx) (c) 1 —logx (d) 1 + logx

If (af€) x —y = @, then (qT) Z—Z is ()

(a) x (b) 0 (c)1 (d) —1

Maximum value of the function f(x) = 3x?> + 6x + 8,x ER is

(@) 2 (b) 5 (c) -8 (d) does not exist
%o f(x) = 3x% + 6x + 8,x € Ris &1 A& A ©

(a) 2 (b) 5 (c) -8 (d) 3R &l &
The function f(x) = x? — 2x is decreasing in the interval

(@) (—o0o, 1] (b) [1,0) (c)R (d) none of these

BT f(x) = x? — 2x, IfARTA H FHAN B

(@) (=0, 1] (b) [1, ) (c)R (d) 79 & ®Iy el
Slope of the tangent to the curve y = x3 + 3x atx = —1
x=—1WRdPH y = x3 + 3x DT T @ B FGo7aT

(a) -6 (b) -5 (c) 6 (d)o

https:/byjus.com
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35.

36.

37.

38.

39.

40.

'S The interval in which y = x2e~* is increasing is

frfaRad & & frd iR § y = x%e ¥ @=fHE B

(@) (=0, ) (b) (=2,0) (c) (2, ) (d) (0,2)
The line y = x + 1 is a tangent to the curve y? = 4x at the point

Pl fIg Wy =x+1 9% y? = 4x & WA AT &

(a) (1,2) (b) (2,1) (c) (1,-2) (d) (=1,2)

The radius of a circle is increasing at the rate of 0.7 cm/s. What is the rate of
increase of its circumference?

(@))1l4mcm/s (b))1l.6mcm/s (c)2.1mcm/s (d) none of these

el a0 A o F 0.7 cm/s B OX & 9 B W& ¥ 7B IRE & IR A
T

(@Q))1l4mcm/s (b)) 1l.6mcm/s (c)2.1mcm/s (d) 79 & P 8
Maximum value of sinx + cosx is

sinx + cosx &1 I=qqHq AN T

(a) —V2 (b) V2 (c) —1 (d) 1

The point on the curve x? = 2y which is nearest to the point (0, 5) is

IH x%2 = 2y W (0,5) W FATH W R Rerd fag 2

@@V29  B)@V20 () (0,0 (d) (2,2)

The normal at the point (1, 1) on the curve 2y + x? = 3 is

B 2y +x%2 =3 & A5 (1, 1) R fer o1 FHHRT 2

@Qx+y=0 (b)x—y =0 ()x+y+1=0 dx—-—y=1

Minimum value of the function f(x) = |x + 2| — 1 s

B f(x) = |x + 2| — 1 & <ATH 919 &
(@)0 (b) 1 (c)-1 (d) 2
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Model Question Paper Set - 02

Time - 1 Hrs 30

Class - XII Subject - Mathematics
Min

Full Marks - 40

General Instructions (A= fAd20):
> Itis mandatory to answer all the questions. (9T e 31fard % |)
> The total number of questions is 40. (I &1 @A AT 40 =)

> Each question carries 1 mark. (U&& U9 & forq 1 i fuiRa g 1)
» Four options are given for each question, choose one of the correct option.

U® U & IR f[ddhed U U €, 398 9 Uh A8l [Adhed &I 7a+ Iy |)
> There is no negative marking for any wrong answer. (Ted STR & o1 @18 i@

Bl BIS ST |)
1. InthesetA ={1,2,3,4,5}arelation Ris definedby R = {(x,y) : x,y € Aand x < y},
then R is
(a) reflexive  (b) symmetric (c) transitive (d) none of these

Uh e A = {1,2,3,4,5} W U& Hag R 79 ISR | gR¥INT 7,
R={(x,y):x,y€EATIM x <y},aA R &
(a)¥@ged  (b) wAMT (c) HepTHD (d) 3777 & BIg el

2. Let A ={2,4,6,8}andR be a relation definedon Aas R = {(2,4),(4,2),(4,6),(6,4)},
thenRiis
(a) reflexive  (b) symmetric (c) transitive (d) None of these

A fb A ={2,4,6,8} @21 R ={(2,4),(4,2),(4,6),(6,4)} =g A TR URAMNT b
Heg T I R®
(a) g (b) FHfAT (c) HAhTHH (d) 37 | BIs T8I

3. Let A = {p, q,r}, which of the following is an equivalence relation on A?

(a) Rl = {(p' q)l (ql T'), (p' T'), (p' q)} (b) RZ = {(7", q)' (7", p): (7", T'), (q; T')}
(c) Ry = {(p,p), (q,q), (r,7), (P, @)} (d) none of these
a1 6 A = {p,q,r}, F=faRaa § ¥ &9 & Joaar dey 87
(a) Rl = {(pl q); (CI, T'), (p; T'), (p; q)} (b) RZ = {(7", q)' (7", p): (7", T'), (q; T')}
(c) Ry = {(p. p), (q,q), (r,7), (P, @)} (d) none of these
4. Iff:R—> R, f(x) =x? andg : R > R, g(x) = sinx, then gof(x) is
afld f:R—>R, f(x)=x?> dAT g: R > R, g(x) =sinx, @ gof(x) &
hitt

. ; . o byjus.com
‘a. sinx? ‘bi sin?x (o) sinx ‘dl x? :
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[1BYJu's :function f : N - N, defined by f(x) =2x,is

10.

11.

wel f: N > NURAMT 8 f(x) =2x a1 f7

(a) one-one but not onto (Th® <ifdh+ MesTaH Tal)
(b) one-one onto (Y& JATTHTEH)

(c) onto but not one-one ( 3MTBIEH <ifh Thd T8)

(d) none of these ( 379 & ®Ig =l )

Which of the following function have inverse

fforRea 5 & &9 91 Bol e ©

(a) f:{1,2,3,4} — {10} with f = {(1,10), (2,10),(3,10),(4,10)}
(b)f:{5,6,7,8} = {1,2,3,4} with f = {(5,4),(6,3),(7,4),(8,2)}

(c) £:{2,3,4,5} = {7,9,11, 13} with f = {(2,7),(3,9),(4,11),(5,13)}
(d) none of these ( 395 & ®is T8l )

Principal value of cos ™1 (1/v/2) is

(a) 3m/4 (b) 5 /4 (c) —m/4 (d) none of these
cos~1(1/V/2) &1 = A &
(a) 3m/4 (b) 57 /4 (c) —1/4 (d) 39 | BIg el
The value of cot (tan"1a + cot™1a) is
(@) 1 (b) —1 (c) O (d) none of these
cot (tan"'a + cot™ta) & A ©
(a) 1 (b) —1 (c)0 (d) 379 | BIS &I
Value of sin™?! <1Ii§), 0<x<1is
(a) tan~1x (b) /2 — 2tan"1x
(c) /2 + 2tan™1x (d) none of these
. _q1 (1—x2
sin 1(1+j§2),0 <x<1® A1 8
(a) tan"1x (b) ®/2 — 2tan"1x
(c)m/2 + 2tan™1x (d) 398 & dIs Al
If sin~1x = —% , then value of x is
Ifq sin‘lxz—%Fﬁ x BT 94 ©
(@) /6 (b) —(7c/6) (c)m/3 (d) —(m/3)
If x 1_ Y X E y] = [ i ;], then value of x and y are respectively
(@) 5,2 (b) =5, 2 (c) =5,—-2 (d) 5,—2

https:/byjus.com
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mﬁmg;ﬁ-[“y 2 ]: 3 2
1 xX—=y 1 7

(@)5,2 (b) — (c) =5,-2 (d) 5,—2

],Eﬁxeﬁ?yao‘rﬂﬁmz

12. If A = [2 _7 2] then order of matrix 4 is

(a)3x3 (b) 3 x 2 (c)2x3 (d) none of these
2 3 5
A= 5 | areE A B AR R
(a)3 x 3 (b) 3 x 2 (c)2x3 (d) 79 & ®Ig 8l
2

13.1fA=[1 2 3], B=

4 ], then product AB will be

(@)[1 2 3] (b) [4] (c) [28] (d) none of these
alf A=[1 2 3], B , a1 AB BN
2
(@1 2 3] (b) H (c) [28] (d)) 39 & ®Ig &l
6

14. If matrices A and B are conformal for product AB then (AB)' is
(a) A'B’ (b) AB’ (c) AB (d) B'A’

Ife Mg ATd B &1 0%l AB UI< 811 ® o (AB)' ®
(a) A'B’ (b) AB' (c) AB (d) B'A’

15. If A is any square matrix, then A is symmetric if

(@)A =1 (b)A" =1 (c)A'=A (d) none of these
Ife A By 97 3gg Bl dl A §9Hd © afe
(@Q)A =1 (b)A' =1 (c)A'=A (d) 379 & BIg
1 0 1
16. Value of determinant |0 1 2|is
0O 0 4
(a) 0 (b) 4 (c) 2 (d) —

https:/byjus.com
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BYJU'S 1 0 1
ey 0 1 2|99 zg
0 0 4
(@) o0 (b) 4 (c) 2 (d) —

17. Value of x is, if|i )1C|= |i

(a) 2v/2 (b) —2+/2 (c) £2/2 (d) none of these

e 9?; 316 =|i i|?ﬁx2b‘riﬂ7r§

(a) 2v/2 (b) —2v2 (c) £2v2 (d) 7 | BIg &
18. If A = [aif]sz then |kA| is equal to
(a) k3|A| (b) k|A| (c) k?|A| (d) none of these

aﬁ A= [aij]ZXz ﬂ_"ﬁ IkAl ENERS %
(a) k3|A] (b) k|Al (c) k?|A] (d) 379 & BIg -TEl

19. Area of triangle whose vertices are (3, 8), (—4,2) and (5,—1) is
(@) 37.5 sq. units  (b) 36.5 sq. units (c) 37 sg. units (d) none of these
39 B &1 eawa s Y a5 (3,8), (—4,2) @@ (5,-1) 7
(@) 37.5 sq. units  (b) 36.5 sq. units (c) 37 sg. units (d) 79 & I3 8!
20. If Ais a square matrix of order n, then A(adjA) = (adj4)A is equal to
(a) |adjA| (b) |A||adjA| (c) |A|I (d) none of these
AT A DI n P &1 I AR 7, A A(adjd) = (adjA)A KRR 2
(a) [adjA] (b) |Al|adjA] (c) [Al1 (d) ST 9 PIS TEl

21.  Which of the following function is not continuous at x = /2

(a) sinx (b) cosx (c) tanx (d) none of these

frfaRad § 9 B9 1 Bl x = 7/2 W Had T8l ®

(a) sinx (b) cosx (c) tanx (d) S99 & I3 8!
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. 1
flx) = {xsm (;) x#0 continuous at x = 0
k , x=20
(@) 8 (b) 1 () -1 (d) 0

k &1 799 s fav s

. (1
f(x)={xsm(;)' x#0 x =0 R 9ad g
k , x=0
(a) 8 (b) 1 (c) —1 (d) 0

23.  The function f(x) = |x| is not differentiable at
(a) 1 (b) =1 (c)0 (d) 5

Hed f(x) = |x| F=foRaa & ¥ fow g W s@derig 781 2
(@)1 (b) —1 (c)O (d) 5

24, % (Vtanx ) is (®)

sec?x b 1 ’ g sec?x
(@) 2+'tanx ( )2\/tanx ) sec' (d 2ytanx

d
25. If 2x + 3y = sinx, then d_;)c/ is

d
U%Zx+3y=sinx?ﬁd—z§

cosx+2 b cosx—2 cosx+3 q cosx—3
@) — (b) = ()=, ()=
i -1 1—x2) .
26. ™ (COS Toxz) 'S 8),0<x<1
b d 2
(@) 1+x2 (b) 1+x2 (c) 1+x2 (d) 1+x2
7. L is (8
. dx(ogsx) is (2)
1 1 logs e log: e
(a) - (b) — - (c) —= (d) - ===
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29.

30.

31.

32.

33.

34.

d
E(G’“B)is (2)
(a) 3x2e*’ (b) x2e*’ (c) —3x2e*’ (d) 3x3e*”
a2y
_ .20 :
If y = x°, then Ix2 IS

azy
— 420 -
ey =x%, @ — 7

(a) 380x1° (b) 380x18 (c) —380x1!8 (d) 380x17
d
Ifx =4¢t, y = i, then—y is
t dx
_ _ ay
afs x = 4t, y = 4/t, @ —
1 2 2 1
(a) 2 (b)t_z (c) 2z (d) ~=

The rate of change of perimeter of a circle with respect to its radius at r = 5cm is

(a) m cm/cm (b) 2T cm/cm (c) 10m cm/cm  (d) none of these

el g & aRMfT & gRed &1 & BrSar r = 5cm R 3roa1 & |ue @
(a) m cm/cm (b) 2T cm/cm (c) 10m cm/cm  (d) 379 & ®Is 8

An edge of a variable cube is increasing at the rate 10 cm/s. How fast is the volume of

the cube increasing when the edge is 5 cm long?

U RTINS T BT fhaRT 10 cm/s @) X F d¢ &1 2 | T &I 3mad- fg x4
9¢ Y81 & 9id fh-IR &Y ofdrs 5cm 27

(a) 850 cm3/s  (b) 75cm3/s (c) 250 cm3/s (d) 750 cm3/s
Which of the following functions are decreasing on [0, E]?

2
frefofad # @i W Ber # [0, 7] BT 87

(a) cosx (b) cos2x (c) cos3x (d) tanx

The function f(x) = tanx — x

(a) always increases (b) always decreases

(c) never decreases (d) sometimes increases and sometimes decreases
https:/byjus.com
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[EBYJuU's hefd f(x) =tanx — x

(a) BHR g B (b) M BRTA &
(c)FT 1 BIHI 81 ® (d) FN—Hd aefar R HHN—od eI @

35. The function f defined by f(x) = 4x* — 2x + 1 is increasing for
Wl f ol ORI © f(x) = 4x* —2x + 1, &fFE &
(d)x <1 (b)x >1 (c)x<1/2 (d)x>1/2

36. Slope of the tangent to the curve y = 3x* — 4x at x = 4 is
b y = 3x* — 4x 975 x = 4 W el @1 & yqurdr B
(a) 764 (b) 191 (c) 760 (d) 768

37. The slope of the normal to the curve y = 2x2 + 3sinx at x = 0is
qHh y = 2x% 4+ 3sinx @ x = 0 TR A BT Jqorar @
(a) 3 (b) 1/3 (c) -3 (d)—1/3

38. The equation of the normal to the curve y = sinx at (0, 0) is
b y = sinx & (0, 0) TR 3Tf¥cid BT AHHRT ©
(@)x=0 (b)y =0 (c)x+y=0 (dx—-—y=0

1
39. Maximum value of the function f(x) = x + S # 0is
1
wAT () =x+—, x # 0 BT SIqH q19 ©
(a) 2 (b) —2 (c) -1 (d) 1
1
40.  Minimum value of the function f(x) = x + > x #0is

1
W(x)=x+;,x¢0m:aﬁaﬂﬂﬂé

(a) 2 (b) =2 (c)1 (d) -1

https:/byjus.com
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Model Question Paper Set - 03

Time - 1 Hrs 30

Class - XII Subject - Mathematics
Min

Full Marks - 40

General Instructions (A= fAd20):
> Itis mandatory to answer all the questions. (9T e 31fard % |)
> The total number of questions is 40. (I &1 @A AT 40 =)

> Each question carries 1 mark. (U&& U9 & forq 1 i fuiRa g 1)
» Four options are given for each question, choose one of the correct option.

U® U & IR f[ddhed U U €, 398 9 Uh A8l [Adhed &I 7a+ Iy |)
> There is no negative marking for any wrong answer. (Ted STR & o1 @18 i@

Bl BIS ST |)
1. InthesetA ={1,3,5,7}, relation R is defined by R = {(x,y) : x,y € Aand x > y}.
Then R is
(a) reflexive (b) symmetric (c) transitive (d) none of these

e 9gd A = {1,3,5,7} W U& 6 R 9 yaR 9 aRvifia g,
R={(x,y):x,y€EATA x >y},aAT R &

CIASR (b) FHfAT (c) HspTHeh (d) 379 & BIg el

2. IfA={a,b,c}and R ={(a,a),(a,b),(a,c),(b,c)}bearelationonA, then R is
(a) reflexive (b) symmetric (c) transitive (d) none of these
afd A ={a,b,c} 9 R ={(a,a),(a,b),(a,c),(b,c)}, AR TH eI &, dl R &
(a) TG (b) ST (c) HspTI (d) $T¥ & PIg 7Tl

3. Therelation R in the set A of all the books in a library of a college, given by
R = {(x,y) : x and y have same number of pages }. Then relation R is

(a) reflexive (b) reflexive and symmetric
(c) an equivalence relation (d) none of these

T Bielsl & JIIDIT D FAR J&Ibl & Ty A ¥
R={(x,y) : x Ty H Y3 P H=T HAM 2 } §RT Uad HaegJ R T Y T
(a) g (b) Tqed 3w
(c) ToadT e (d) 379 | BIS &I
4. If f:R> R, f(x) =cosx andg: R > R, g(x) = x?, then fog(x) is

Al f:R >R, f(x) =cosx @A g:R >R, g(x) =x2 d fog(x)s
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@BYJUS cos’x (b) cosx (c) cosx? (d) x2cosx

5.

10.

11.

The function f : N = N, defined by f(x) = 3x + 4, is
W f:N->N, f(x) =3x+4 g uRqid g a1 f &
(a) one-one but not onto (Y& <ifdhd 3MTBTEdH o)

(b) one-one onto (Thd INTTBTEH)

(c) onto but not one-one ( TTWIEH clfh Tdhd al)

(d) none of these ( 395 & &g T8l )

If f: R > R, defined by f(x) = 2x + 7 then f~1(x) is
& f:R->R, f(x) =2x+ 78~ uRafdd & @ f~1(x) &1 7 2

x_-l-7 b) 7 2 7—_x d x—7
(a)2 (b) 7x — (C)2 (d) ==
Principal value of tan™1(—1) is
(@) m/4 (b) —m/4 (c) 3m/4 (d) =3 /4
tan~1(—1) & =& A9 &
(a) /4 (b) —m/4 (c) 3m/4 (d) =3 /4
The value of cos (sin"ta + cos™1a) is
(@)1 (b) —1 (c) O (d) none of these
cos (sin"'a + cos™'a) &1 AE T
(a) 1 (b) —1 (c)O (d) 379 | BIS &I
The value of sin (g —sin~?! (— %)), is
(a) 1/2 (b) 1/3 (c) 1/4 (d) 1
sin (g —sin™?! (— %)) BT A
(a) 1/2 (b) 1/3 (c) 1/4 (d) 1
If tan~1x = —/3 , then value of x is
IfT tan"lx = —/3dAT x BT AH B
(@) m/3 (b) —(7/3) (c)/6 (d) —(r/6)
If [x -; Y x E y ] = [ g _i ], then value of x and y are respectively
(a) =2, —3 (b) 2,—3 () 2,3 (d) —2,3

x+y 2 5 2 _

?Jﬁ{[ c x—y]_[s _],?-ﬁxSﬁQyEBTHTFrW.
(a) =2,-3 (b) 2,—3 (c)2,3 (d)—2,3 hitps://byjus.com
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12.

13.

14.

15.

16.

17.

fA=[—1 2 3],thenorderof matrix A4 is
(@)1 x3 (b)3x1 (c)1x1 (d) none of these

AT A=[—-1 2 3], IYE A & B &
(a)1x3 (b) 3 x 1 (c)1x1 (d) 398 & PIs Al

If A = [(1) (1)],then A? is equal to

vIPq*A=[(1’ é],?ﬁAz T A 3

0 1

@]

S G Y BT P

If A is any matrix then the value of (kA)’
afs AIg g ¢ ar(kA)’ &1 a4 8

1 I Al !
(a) %A (b) K'A (c) kA (d) kA
For any square matrix 4, (A + A") is
(a) identity matrix (b) symmetric matrix
(c) skew-symmetric matrix (d) none of these
fopsfy ot amegg A @ forw (A+4) &
(a) THHD 3T (b) TAMT 3TgE
(c) fawA AT smegg (d) ST & BIg 2

IfA = [i 3],then |2A4]| is equal to

?T%A:[}L ;]?‘ﬁ|2A|EHHFT%\'

(a) 2[A] (b) [A] (c) 4[A] (d) 8|4]
Value of x is, if | g Lll = | 26x ;‘; |
(a) V3 (b) =3 (c) +V3 (d) none of these

IHE R MERE L

(a) V3 (b) —V3 (c) +V3 (d) s & BIg T8l

https:/byjus.com
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18. If A = [aij]nxn then |kA| is equal to
(a) k™| A| (b) k™ 1|A| (c) k|A| (d) none of these
?Jﬁ{ A= [aij]nxn Fﬁ- |kA| ENELS %
(a) k™|A| (b) k™A (c) k|Al (d) ST & PIS el
Area of the triangle whose vertices are (1,0), (6,0) and (4,3) is

19.

20.

21.

22.

(@) 7.5 sq. units  (b) 6.5sq. units  (c) 8.5sg. units  (d) 7 sq. units
39 B &1 eFwe s oY fa=5 (1, 0), (6,0) T2 (4,3) ®
(@) 7.5 sq. units  (b) 6.5sq. units  (c) 8.5sg. units  (d) 7 sq. units

a1 Qg2 Qg3
If A=|0d21 Q22 Q23 |and A4;; is cofactor of a;;, then value of A is given by
31 dzz QAz3
(@) ay1431 + 1243, + a13433 (b) a11411 + a12421 + 41343,
(c) az1411 + az2412 + 33453 (d) a11411 + az1421 + az143,
a1 Q12 Q13
e A= [0z Gz Qp3 | 3R q;; BT TeES A;; 81 <l A b1 d41 f=iforiad vu 4
31 Qazz 0Azz

ddd |a5€|l NG
(a) ay1A431 + 1243, + ay3433 (b) a;1411 + a4, + a4343

(c) az1A11 + az2412 + az34;3 (d) a11411 + az1421 + az1 43,
Given function f(x) is continuous at x = a, then which of the following is true?

(@) lim,_, f(x) # f(a) (b) lim,_,, f(x) does not exist
(c) lim,_, f(x) = f(a) (d) none of these

f&ar a1 e f(x), x = a W Had & d F=falad 4 9 o9 93 ©
(a) lim,_, f(x) # f(a) (b) lim,_, f(x) T 3R 81 &
(c) limyq f(x) = f(a) (d) 379 & ®1g T

What is the relation between a and b, so that the function f defined by
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23.

24,

25.

26.

ax+1, ifx<3 | )
is continuous at x = 37

bx+ 3, ifx>3
(@Q)a=b (b)a+b=2/3 (c)a—b=2/3 (d)noneof these

a IR b & I T AdT R 8T s forw werA

ax+1, ifx<3
xX) =
f@&) {bx+3, ifx >3

(@QJa=b (b)a+b=2/3 (c)a—b=2/3 (d)STH ¥ PIg &l

x =3 W Gad g7

The greatest integer function f(x) = [x], 0 < x < 3, s

(a) not differentiableat x = 1 (b) not differentiable at x = 2

(c) discontinuousatx = 1and x = 2 (d) all of these

HETH qulies Bt f(x) = [x], 0 < x < 3,
(a) x = 1 TR 3[dPho-T &l 8 (b) x = 2 WR gHAAY &l 2
(c)x =117d 2 TR Fad 8 © (d) SR

: dy
If y= n hen — i
y = cos(sinx), the vl

(@) —cos(sinx)  (b) —sin(sinx) (c)—sin(sinx).cosx (d) none of these

afd y = cos(sinx), @l Z—z 8
(a) —cos(sinx)  (b) —sin(sinx) (c)—sin(sinx).cosx (d) S8 & ®Is &l

: dy .
If 2x = siny, then 2 s
dx

o ay
?If)c{Zx—smyEﬁdx%\'

(a) 2cosy (b) 2cosecy (c) 2siny (d) 2secy

if (afR) y = sin~! (2xvI — x2), —\/—15 <x< % then (1) Z—z is (2)
1 -1 2 -2

@) i S = O i

https:/byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@EYUS

28.

29.

30.

31.

logx d
=i then & is
b dx
1+1 logx—1 1-logx
(a) ggx (b) & > (c) Zg (d) none of these
X X

Ay =<2 @ 2 3

dx
1 1 1-1 . :
@) ”;ig’“ (b0) "2 © %> (dFE P
; d

If y =25 then 2 s

dx
(a) 25"* cosx (b) 25"* cosx.log2
(c) 2¢°* sinx.log?2 (d) none of these

— 9osinx ﬂ

afg y = 250% qr — g
(a) 25X cosx (b) 251"* cosx.log2
(c) 2°°% sinx.log2 (d) s79 & BIg 8

dazy
If y = logx?, then s

dzy
afg y =logx?, @ — ®
(a) x? (b) 1/x (c) —1/x? (d) —2/x?
: dy .
If x = acosf, y = asinf, then e is
dy

afd x = acosh, y = asind, A g
(a) tan@ (b) cotd (c) —tané (d) —cotB

A stone is dropped into a quiet lake and waves move in a circle at a speed of 4 cm/s.
At the instant when the radius of circular wave is 10 cm, how fast is the enclose area
increasing?

T ReR it # U UeeR STl ST 2 iR OR31 gdl § 4 cm/s @1 T[T & Ferdl 2 |
S geIThR R B FSAT 10 cm ©, T I &7 foRT 83T &3hel fhail doll ¥ 98 8T
2?

(a) 8m cm?/s (b) 80mr cm?/s  (c) 0.8m cm?/s  (d) 8—1077,' cm?/s

https:/byjus.com
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33.

34.

35.

36.

37.

'S An edge of a variable cube is increasing at the rate 3 cm/s. How fast is the volume of

the cube increasing when the edge is 10 cm long?

(a) 9 cm3/s (b) 90 cm3 /s (c) 900 cm3/s (d) none of these

Th IRIITNS 89 BT fHRT 3 cm/s B X W 98 8T 2 | T T Id 59 X |
9% 8T & 99 B &1 @ds 10 cm 87
(a) 9 cm3/s (b) 90 cm3/s (c)900 cm3/s  (d) 374 & PIs 8

The function f given by f(x) = x? — x + 1is increasing in the interval

fear T wed f(x) = x% —x + 1, 3Nl # 99 @
@ (-3 3) ®(-w, =] @ELy @3 )

2
The function f given by f(x) = x? — x + 1 is decreasing in the interval

(a) (—oo, %] (b) E oo) (c) (=1, ) (d) none of these

fear T W f(x) = x2 —x + 1, 59 R H A 27

@ (- 5] W[5 ©)  @ELe) (@)
The function f(x) = x + cosx is

(a) always increasing (b) always decreasing
(c) increasing for certain range of x (d) none of these

%o f(x) = x + cosx

(a) S0 99 2 (b) SR EAATT 2
(c) x & g a1 & forg gefam (d) 59 & BIg !

Slope of the tangent to the curve y = sinx at (0, 0) is
(a) —1 (b)O (c)1 (d) none of these
g% y = sinx & 45 (0,0) W Wef @1 & JavEr ©

(a) -1 (b) O (c)1 (d) 79 & ®Ig el
Equation of normal to the curve 2y =3 —x? at (1,1) s

% 2y =3 —x? @ g (1,1) W Af¥edd & FHEI0 &
(@Qx+y=0 b)x+y+1=0
()x—y+1=0 (dx—-—y=0
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[EB1BYJU'S slope of the normal to the curve y = 3x? —12xatx = 1is
IH y =3x% —12x & 05 x = 1 R JfAd o gaurar 2

(a) =6 (b) 6 (c)1/6 (d)—1/6

39. Maximum value of the function f(x) = sin2x, 0 < x < m s
Hed f(x) =sin2x, 0 <x <m & Sedqd A &
(a) —1 (b) 1 (c) 2 (d) =2

40.  If x is real, the minimum value of the function f(x) = x> — 8x + 17 is
IfE x aRAfI® & A B f(x) = x2 —8x + 17 &I =AqH 94 2
(a) —1 (b) O (c)1 (d) 2

https:/byjus.com
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Model Question Paper Set - 04

Time - 1 Hrs 30

Min Full Marks - 40

Class - XII Subject - Mathematics

General Instructions (A= fAd20):

> Itis mandatory to answer all the questions. (4T U= 31~ard 2 |)

> The total number of questions is 40. (JeI HI FHeT F=AT 40 T |)

> Each question carries 1 mark. (Y&&% wed & fory 1 3f% FMeiRa 2 1)

» Four options are given for each question, choose one of the correct option.
UAH T o IR [APheq AU 1Y €, 399 9 Udh el [ddhed & a9+ DIy |)

> There is no negative marking for any wrong answer. (Teld StR @ oIt @18
3 eI B ST |)

. Let R be arelation in the set N givenby R = { (a,b):a = b — 2,b > 6}. Choose
the correct answer.

A fofre & wgeaa NH,R = {(a,b):a=b—2,b > 6} ERT Uad AT R T |
FeforRed § & 981 SR gAY

(a) (2,4) € R b)(3,8)ER  (c)(6,8)ER  (d)(8,7)ER

. Let R be the relation in the set {1, 2, 3, 4} given by
R=1{(1,2),(2,2),(1,1),(4,4),(1,3),(3,3),(3,2)}. Choose the correct answer.

(a) R is reflexive and symmetric but not transitive.
(b) R is reflexive and transitive but not symmetric.
(c) R is symmetric and transitive but not reflexive.
(d) R is an equivalence relation.

71 forfde 6 wqea {1,2,3,4) ,

R ={(12),(2,2),(1,1),(44),(1,3),(3,3),(3,2)} gRT uR*Ifd HdeT R T |
fFrforga § ¥ 981 SR gAY

(a) R ¥adcd AT FAMT & fbhg AHMd T8l &

(b) R e T Aem™d ® fhg wafia =8t @

(c) R AT 3R HehMa T fhg Wded T8l ©

(d) R & JoIdr Hae ©

. Let f: R - R be defined as f(x) = x*. Choose the correct answer.

(a) f is one-one onto (b) f is many-one onto
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[BBYJU'S ) f is one-one but not onto (d) f is neither one-one nor onto
A9 I & f:R - R, f(x) = x* SR uR¥INT B | W& SR & TIH BITY
(a) f Ul 3MeBTED 2 (b) f 98TD IMeBTED B

(c) f Tl & fvg aMmesTed w8l & (d) f 7 df Ul & 3R 7 3MBEd o

4. Let f: R — R be defined as f(x) = 3x. Choose the correct answer.

(a) f is one-one onto (b) f is many-one onto

(c) f is one-one but not onto (d) f is neither one-one nor onto

A fIfoTe f& f(x) = 3x 1 UR9ING W f:R > R 8| 921 SR g
(a) f ThdT ATBTEH & (b) f 9ETD IMTBIED B

(c) f Ul B fhq amesTed A8l & (d) £ @ Tha! & 3R 7 ATVRH ¢ |
5. If f2R — R begiven by f(x) = (3 —x3)/3, then fof(x) is

(a) x1/3 (b) x3 (c) x (d) 3 — x3
afe f:R >R, f(x) = (3 —x3)Y3, & NI Ud ©. @ fof(x) &R &
(a) x1/3 (b) x3 (c) x (d) 3 — x3
6. If f(x) = x? +x+ 7 then f(0)is
(@) 7 (b) 0 (c)7 (d)>

A f(x) = x2 +x+ 7371 f(o) =
(@) 7 (b) 0 (c)7 (d)>

7. The principal value of cos ™! (é) is

cos™? (%) & = 91 T |

(@)% (b) 2 ()% (d) =
8. The value of cos (sin‘1 G) + cos™?! G)) is

cos (sin‘1 G) + cos™?! G))?b‘r A9 8

(a)1 (b) —1 (c)O (d) oo
9. cos™?! (cos 7?11) is equal to

cos™! (cos%n) BT ATF S-I6R B

(a) z (b) o (c) z (d) u hitps://byjus.com

*



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[BYJus
10. tan" %3 — cot™* (—V/3) is equal to
(a) (b) —g (c) 0 (d) 2v3
tan~*v3 — cot™! (—V3) @1 AF &
(a) (b) —% (c) 0 (d) 23

11. A= [aij]mxn is a square matrix , if
A= [aij]mxnw an e’ﬂwg %‘ Zlﬁ{
(@Qm<n (b)m>n (cgm=n (d) none of these

12. which of the given values of x and y make the following pair of matrices equal

3x+7 5 ], [g y;Z]

y+1 2-3x

(a)x=—§, y=7 (b) not possible to find
(C)y=7,x=—§ (d)x:_%,yz_g
x ATy & Uad b a4 & oy Mgl & freforaa = |AH §°
(a)x=—§,y=7 (b) ST HIAT GG ol T
(C)y=7,x=—§ (d)x:_%,y=_§

13. The number of all possible matrices of order 3 X 3 with each entryOor 1is

3x3 DI & VW MGl D el fhad- F=T gRfT [9dH! g% gfafte 0 I 1 &
(a) 27 (b) 18 (c) 81 (d) 512

14. If A, B are symmetric matrices of same order, then AB — BA isa

(a) skew-symmetric matrix (b) symmetric matrix
(c) zero matrix (d) identity matrix
afe A Ta7 B 99 dife & FAHAd AME & af AB — BA &

(a) fowm wwfaa amagE & (b) TAAT MR B
(c) I MR (d) TTAS SIYE B

15, If(Ui%’)A=[i g],then @) adj(4) =2

@7 el Sl el Sl el
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The Learning App

AT A % 3 X 3 PIfe &1 a¥f Mg & a1 |kA| &1 A9 &

(a) k|A] (b) k2|A| (c) k3|A] (d) 3k|A]
17. IfA = [C(.)S“ —sma]’ and A + A’ = I, then the value of a is
sina cosa

afe A =[C9S“ _Sma]HQJTA+A’ =] @ a @ HT R
Sina cosa

T T 3T
(a) - (b) 3 (c)m (d) -
18. IfA = [a ﬁ] is such that A% = I, then
y —a

afe A =[;'f _f{]sﬂu‘cﬁw%\’%flz=l,?ﬁ

(@Q)1+a?2+By=0 b)1—a? +By=0
(cJ1—a? —By=0 (d1+a? -By=0

19. If the matrix A is both symmetric and skew-symmetric, then

(a) A is a diognal matrix (b) A is a zero matrix
(c) A'is a square matrix (d) none of these

IS U 3Negg FAMAa a1 favA |\l a9 81 §

(a) AU fasot emerE ® (b) ATH I ANYE &
(c) Av® v o ® (d) T & BIg e

20. If |1xS 92c|:|168 2|,thenxisequa|to
zri;'*P|1xs 32c|:|168 2|’§FﬁXW§

(a) 6 (b) £6 (c) =6 (d)0

21. If (afQ) Vx + [y = Va, then () %=?

(@) —% o) —32 0 -2 (d)0
22. If (af) y = logyo x, then () % =7
1 1 1 1
@) 2 B3 00g10)  (Oiqor (@0 S
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24,

25.

26.

27.

28.

29.

30.

(@) x* log x (b) x*(1 +1logx) (c)x(1+1logx) (d)1
If (3f) f(x) = ax? + bx + c then (a1) f'(0) =
(a) c (b) b (c) —b (d) a

d2
If (7<) ¥ = Scosx — 3sinx, then (qT) d_321 =

(a)o (b)y (c) =y (d) x

2

a
If (?I%) X = atz, y = 2at, then (ﬁ_"ﬁ) d_x:)zl =

1 1
(@) - 2 (b) 2at3 (€)= 3 (d) = 2at3
x—x3
If (7<) y =tan™! G_sz) NG <x< T' then (?ﬁ)
3 -3 1 -1
(a) 1+x2 (b) 1+x2 () 1+x2 (d) 1+x2
If f(x) = {kx + 1 ifx <5 at x = 5 is continuous at the indicated point then
3x —5, ifx>5

value of k is

5 9
(@) (b) 0 (c)= (d) 1
I f(x) = {kx+1’ e SRT IRAIRT B x =5 W dad & af k &I

3x =5, ifx>5

A BN

5 9
(@) (b) 0 (€)= (d) 1

_ ay _

If (uf%) = + = = 1 then (a) ==

b2%x b2x a’x a’x
(a) aZy (b) 7 (c) by (d) Y
If (7<) y = cos(sinx), then (<) ;l_y =
(a) cos (cosx) (b) sin(cosx) (c) —sin(sinx)  (d) —sin(sinx).cosx

https:/byjus.com
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31.

32.

33.

34.

35.

36.

37.

38.

The rate of change of the area of a circle with respect to its radius r at r = 5cmis

gd Pl &k H UREd $I <X gHd AT & |rue a1 gEil S 331 5 cm 812
(a) 10m cm?/em  (b) 20w cm?/cm (c)% cm?/cm  (d) 110w cm? /em

The slope of the curve y? = x at the point (1,1) is

fa=g (1,1) W g y? = x B STl BT A BT
(@)1 (b) -1 (c)- > (d)>

The total revenue in Rupees received from the sale of x units of a product is given
by R(x) = 3x? + 36x + 5. The marginal revenue, when x = 15 is

T I DI x SHISAl & A I U et 3 wuAi 4 R(x) = 3x% +36x + 5
A USH B 99 x = 15 ® A AHT T B

(a) 116 (b) 96 (c) 90 (d) 126
The interval in which y = x?e* is decreasing is

frferaa # 9 f5d fdRTa § y = x%e® 39 &

(a) (=00, —0) (b) (=2,0) (c) (2, ) (d) (0,2)
The slope of the normal to the curve y = 2x2 + 3sinxatx = 0 is
% y = 2x% + 3sinx & x = 0 IR AWAd BT YIoral &

(@)3 (b) 5 (c) -3 =

The line y = x + 1 is a tangent to the curve y? = 4x at the point

fPa f[dg W y=x+ 1,9 y? = 4x &I W @ 87°

(a)(1,2) (b) (2, 1) (c) (1,-2) (d) (-1, 2)
o 1-x+x2
For all real values of x , the minimum value of oin? is
. 1—x4x2
x B A afae A B o ——— BT YT A &
(@)0 (b) 1 (c)3 (d)

The line y = mx + 1is a tangent to the curve y? = 4x if the value of m is

NGy =mx + 1, 95 y? = 4x B W QT 8 I m BT 99 &
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EQLYJL!AS a)l (b) 2 (c) 3 (d) >

39. A cylindrical tank of radius 10m is being filled with wheat at the rate of 314 cubic
metre per hour. Then the depth of the wheat is increasing at the rate of

Tdh 10m BT & J-dR Sahl § 314 m3/h B R ¥ g AR Gl © | R Y G
D TETS DI IfE R B

(a) 1 m/h (b) 0.1 m/h(c) 1.1 m/h (d) 0.5 m/h

40. A balloon, which always remains spherical on inflation, is being inflated by
pumping in 900 cubic centimetres of gas per second. The rate at which the radius
of the balloon increases when the radius is 15 cm.

U &RT Sl ¥ad MATDHR I8dl 8, Tb YU §RT 900 cm® 19 Ul Hhs W R
AT ST B | TR B B & qRdas @1 &% 8l 99 Bo/@r 15 cm

(a) % cm/s (b) T cm/s (c) 2m cm/s (d) T2 cm/s
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@ovwUs SIREs wfdie JHar yd gi¥eer aRye 1l (sIRE’s)
yerH grafered gd&r (2021-2022)

Model Question Paper Set - 05

Time - 1 Hrs 30

Class - XII Subject - Mathematics
Min

Full Marks - 40

General Instructions (A= fAd20):

> Itis mandatory to answer all the questions. (9T e 31fard % |)

> The total number of questions is 40. (JeI &I FHeT F=AT 40 T |)

> Each question carries 1 mark. (J&& U39 & oIy 1 3f@ F=IilRa 2 1)

» Four options are given for each question, choose one of the correct option.
TA® T & IR APy AU 1Y €, 399 9 TP el [ddhed & a9+ DIy |)

> There is no negative marking for any wrong answer. (Ted STR & o1 @18 i@
Bl BIS ST |)

1. Therelation R inthe set {1,2,3} givenby R = {(1,2),(2,1)}is
(a) reflexive (b) symmetric (c) transitive (d) none of these
ey {1,2,3}4 R ={(1,2),(2,1)} g f&ar a1 Hay &
(a) ¥aged (b) wHAMAT (c) AsPTHD (d) 3779 & BI 77l

2. LetR bearelationintheset A={x €Z:0<x <12}, given by
R ={(a,b) : |a — b| is a multiple of 4}, then R is

(a) transitive and reflexive (b) non-equivalence relation
(c) an equivalence relation (d) none of these

Agead A={x€Z:0<x <12} R U& Hag R 39 UHR UR¥INT &
R={(a,b):|la—b|,4 ST & },aAT RT

(a) FepTH® 3R W (b) JouaT Hey &l ©
(c) JoudT Hay B (d) 379§ BIS e
3. Let R =1{(1,3),(4,2),(2,4),(2,3),(3,1)} be arelation on the set A = {1, 2,3,4}. The
relation R is
(a) function (b) reflexive (c) not symmetric (d) transitive
qgd A = {1,2,3,4} R & 999 R = {(1,3), (4,2),(2,4),(2,3),(3,1)} & o |dg
R?
(a) Ub HaTd (b) T (c) AT T8l (d) HshTHDH
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[BYJus ! being the set of all real numbers, then the function f : R — R defined by

The L

10.

(a) — % (b) % (03 a

Jx) = |x|is
(a) one-one only (b) onto only
(c) neither one-one nor onto (d) both one-one and onto

Ife R arafde Hmsil & 9qzad & a2 ®ald f: R - R, f(x) = |x| §RT ulR+Iia
gal f g

(a) B Tbeh (b) DI ITBTED

(c) 5 U A IMTBTEH (d) T UG <BTed QI
ff:R—->R, f(x) =cosx andg:R - R, g(x) = |x]|, then gof(x)is
afd f:R> R, f(x) =cosx @M g:R >R, g(x) =|x|, @ gof(x)?

(a) |cosx]| (b) cos|x| (c) cos?x (d) cosx?
If f: R — R, defined by f(x) = 2x — 1 then f~1(x)is

x—1 x+1 1—x

(a) - (b)T (C)T (d) none of these
I f:R->R, f(x) =2x— 15~ aR¥ifda 8 @1 f~1(x) & w1 2
(@) = (b) == (0= (d) T % T T

Principal value of tan~*(—=+/3) is
(@) /6 (b) —m/6 (c)m/3 (d) —m/3

tan~!(—V/3) & = A4 ©
(@) /6 (b) —m/6 (c)m/3 (d) —m/3

Value of cos™1(2x2 —1), 0<x < 1is
0s1(2x%—1), 0<x <1 ®HTH 8
(a) 2sin1x (b) cos™1x (c) 2cos™1x (d) t/2 — cos™1x
or 9 _1(1\.
Value of 5~z Sin (5) is

or 9 . _.r1
——Zsml(g)ib‘rm:r%\'

(D) mest () @2t () @ (2

3

s
If 2sin~1x = 5 then value of x is equal to

Ifg 2sin?! x—— T x BT A B

3
T (d) V3 hitps://byjus.com
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12.

13.

14.

15.

16.

] = [ _é ?L ] then value of x and y are respectively

6 2x +y

x—y 3 1_71-1 3 _
er%:[ 6 2x+y]_ p 4],Fﬁx3ﬁ‘\’yiﬁrﬂ17rw.
(@)1, 3 (b)3, 1 (1, 2 (d)2, 1

ta=[y _)andB=[7 (]thenan =

aRa=[, JJenp=[] ]da8=

0
0 1 0 -1 -1 0 1 1
(a)[—1 0] (b)[1 0] (C)[ 0 1] (d)[—1 0]
1 2 3 1
fA=|10 6 9 6],thenorderofmatrixAis
5 8 7 =5
1 2 3 1
ade A=|0 6 9 6],aﬁa1w§Aa%aﬁw%%
5 8 7 =5
(a) 3 x 3 (b) 3 % 2 (c)4 %3 (d) 3 x 4

If A is any matrix then (4")" =

(a) A’ (b) —A (c) A (d) none of these
afs Adig 3gg &, ar (4) =
(a) A’ (b) —A (c) A (d) 379 & BIg el
If the matrix A is both symmetric and skew-symmetric, then
(a) A is a diagonal matrix (b) A is a zero matrix
(c) A'is a square matrix (d) none of these
afe g A FAfAa den foww wafa <= &1 8, @
(a) A T& fa@ot emerg ® (b) A TS I IMYE ©
(c) AU® o 3MYE & (d) 579 & BIg !
1 2 3
Value of the determinant |0 2 4] s
0 0 5
1 2 3
ARME [0 2 4| dTHE 2
0 0 5
(a) =10 (b) 10 (c) -2 (d) 6

https:/byjus.com
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18.

19.

20.

21.

22.

2 3| _|x 1 .
If|4 5 _|2x 3|,thenva|ueofx|s
2 3|_|1x 1
?Ii%’|4 5_|2x 3|,Fﬁx2b‘r‘ﬂ_*r§
(a) 2 (b) 1 (c) -1 (d) =2
1 a b+c
The value of determinantA= 1|1 b ¢+ alis
1 a a+b
(@) 0 (b)a+b+c (c)14+a+ b+ c (d) none of these
1 a b+c
ARG A=(1 b c+a|BTAAT
1 a a+b
(a) 0 (b)a+b+c (c)1+a+b+c (d)s7H A Bl Tl

Equation of line passing through the points (1, 2) and (3, 6) is
fa=gatl (1, 2) 3R (3, 6) | oA ATell IW@T HT THIBRIT B
(@)y = —2x (b) 2x =y (c)x =2y (d) x = =2y

If A is a non-singular matrix, then A1 is equal to

1 la -
(a) a adjA (b) 2diA (c) |AladjA (d) none of these
I A DTS JHAONT AMMGE & al A~ R &

NP 4l : : _
(a) i adjA (b) - o (c) |A|adjA (d) 398 & ®Ig T8l
The value of k, so that the function f defined by

2 if, <
flx) = {kx , ifx=2 , continuousatx = 2
3, ifx>2
(a) 4/3 (b) 3/4 (c) —3/4 (d) —4/3

k & fd a9 @ folg B f, S 9 geR & aRaifa &

kx?, ifx <2 .
f @) { 3, ifx>2’x 2 ¥
(a) 4/3 (b) 3/4 (c) —3/4 (d) —4/3

At which point the function f(x) = x — [x] is discontinuous in the intervajjfminmasr—m
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23.

24,

25.

26.

27.

28.

29.

B f(x) = x — [x], 3R (0,2) & fHd fag R arad 22
(@) 0 (b) 2 (c)1 (d) s & BIg TEl
The function f(x) =|x—3|, x €ER

(a) continuous at x = 3 (b) continuous everywhere
(c) not differentiable at x = 3 (d) all of these

BT f(x) =|x—3|, xER

(a)x =3 Fdd & (b Th Had BT B
(c) x = 3WR AAHT Tl & (d) SURITT |

Derivative of sin(ax + b) is
sin(ax + b) @1 JTHAT &
(a) asin(ax + b) (b) —acos(ax + b) (c)acos(ax + b) (d) cos(ax + b)

_ dy .
If x +y = m, then D is

_ 4
H%x+y—n,ﬁdx§

(a) 0 (b) 1 (c) -1 (d) x
If (I7<) y = sec™? (Tl—l)’ 0<x< % then (aT) Z—z is (8)

1 1 2 -2
@) s O i iz N

If (af2) y = 3%, then () % is ()

1

(a) 3* log 2 (b) 3* log 3 (c) 3%1 (d) ‘;%f’

dzy
If y = 5cosx — 3sinx, then ) is
@)y (b) =y (c) 5sinx — 3cosx (d) none of these

2y

afd y = Scosx — 3sinx, % g
(@) y (b) —y (c) 5sinx — 3cosx (d) 379 & I el

Derivative of cosx with respect to sinx is

cosx T Jddelol sinx & TTUET & https:/ibyjus.com
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Jasin™ = d
30, Ifx =, y = a7, then = is
er%{ < qsin” | —1r d
X = asin 1t’ y = oS 1t,?ﬁ d_;)cl %

Y i _7 _x
(@) 2 (b) - () =2 (o~

31. The rate of change of area of a circle with respect to its radius r, whenr = 4 cm is
fpdl g & &l & URadd &1 <X gHG! FT r & e Ife r=4cm @

(a) 16m cm?/cm (b)) 4m cm?/cm  (c) 8w cm?/cm  (d) 327 cm?/cm

32. A balloon which always remains spherical has a variable radius. The rate at which its
volume is increasing with the radius when the radius is 10 cm, is

(a) 400 cm3/cm (b) 40 cm3/cm  (c) 4r cm3/cm  (d) none of these

T @RI Sl Fad MATHR B & o Hoar aRaa-eid ¢ | 59 31 10cm © 79
35ar & Amer SrIad & gRady @I R 7
(a) 400 cm®/cm (b) 40w cm3/cm  (c) 4w cm®/cm (d) SR & @IS T8I
33. The function f(x) = sinx is
(a) increasing in [O, %]
(b) decreasing in E, TL’]

T
(c) neither increasing nor decreasing in [0, E]

(d) all of these

f(x) = sinx ¥ Usd oA
(a) [0,%] ¥ i 3

(b) En] ¥ g 2

(c)[o,g] ¥ 9 d e f ok A& e 2

(d) STRIET T

34.  On which of the following intervals is the function f given by f(x) = x1°° + sinx — 1
decreasing
(a) [0, 1] (b) [, 7] () [0,7] (d) none of theseggg


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

-
@YJus TEfRed faRrell # & fod siawrer 7 £(x) = x'°° + sinx — 1 §RT Y& Herd f

The Learning App

BT &

(@) [0,1] (b) [, ] (e [0,5] () 57 & T
35.  f(x) = 2x3 — 6x + 5is an increasing function if

@)0<x <1 (b)-1<x<1

(c)x<—-lorx=>1 d-1<x<-1/2

f(x) =2x% —6x +5 U FHE %Bad g, I

@J0<x<1 b)—1<x<1

()< —lorx=>1 d-1<x<-1/2

36. The Slope of the tangentto thecurve y = x3 + 3xat x = —1s
b y=x3+3xd g x = —1 W T T &I Ygordm 3
(a) 6 (b) —6 (c)3 (d)—3

37. Theslope of the normal to the curve y = e?* at the point (0, 1) is
qm y = e?* & fd=g (0, 1) W AT P Ygvrar
(a) 2 (b) O (c) =2 (d) —1/2

38. The equation of tangent to the curve y = sinx at (0,0) is
g y = sinx & 45 (0,0) TR Wl @ & FHHT 7
(@x=0 (b)x+y =0
(c)y=0 (dx—-y=0

39. Maximum value of the function f(x) = 3x2+ 6x+8 , x ERis
(@) 2 (b) 5 (c) —8 (d) does not exist
%o f(x) =3x2+6x+8, x €ER & I=aad A &
(a) 2 (b) 5 (c) —8 (d) e =T8T &

40. The minimum value of sinx.cosx is

sinx.cosx &1 AqH H9 &

(a) 1/4 (b) 1/2 (c) —1/2 (d) V2

https:/byjus.com
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